b
%
]
<
N
it

RATMMWETFRES

(M WEFPHEICET HERBHAE)

— fi& = it (WIEZE 2 )






_E yk_

O METFHEE

O METHRICETIHHAE

= i &

AN ik HE L B = LR B A
1 s
2 mA

H

W B3 th

i H
& ¥
f o5 B M E

(#f 1E)






=

11 =

B
M
Gl

AT AR EMm—MaSfETE (F25)
BMTFEERMTO—BSFHETHE B2%5) 1L, KIIEDDLELEZAILLD,
(kAT H TR O E)

B4k mARHTEOBEIC, mARLEThTh 826 T-HZBIM L., MARHT
HogEEmARThEn 23,418,183 TH L4+ %,

2 AR PR O IEDOFZKIE O X4y M ORYFE XSy Z & OAFEN ONTHIER O AR H THEO
SREIL, TH1E£ BARHTEME I2X5,

AFn THE 6 13 HELH

kMW E TR E



Piram L= LEs et A b
1R ik AN T LA I
Rl ey
i A
N H HIERTOFE wWOE fA 7t
T M M
17 WX H 4 1,698, 579 826 1, 699, 405
3 REita 140, 147 826 140, 973
I3 A & 23,417, 357 826 23, 418, 183




2
EE

S

Eoe H HIERTOFE wWOE fA 7t
T M FM
2 WHE 4,206,974 826 4,207, 800
4 JREH 123, 105 826 123, 931
I3 H & S 23,417, 357 826 23, 418, 183







tHIE T RICE 9 SR A

it






Hp

A Nk AR E 7 S T A

a5 2 IAME (1)






e N Tk HE Al IE 7 5 S SR B i

1 # &
TN
(7 A)
e MHIERT O %A wWoOE %8 7t
FM FM F1M
17 B4 1, 698, 579 826 1, 699, 405
I3 A = 23,417, 357 826 23,418, 183




K MHIERT O % M 1E % &t
M T M
2 WEE 4,206, 974 826 4,207, 800

% H = g 23,417, 357 826 23,418, 183




= _ fHIE B Ea‘a) M R A %ﬁ
: E ; R -
ELSHE M5 z o e MR
TM TFM TM EAT
826 0
826 0 0 0




2 wm A

1 7% BREZH4e 826TM
3IE RZLit4e 826

B FHIERTO%E W 1E % R
T T T
1 BB RETES 129, 960 826 130, 786
2 140, 147 826 140, 973




G 1

#
TH TH
4 BERLLE 826 | LI O WA FRE T A 403
Zifkbiik Q@ RF LT 423

173 REHe




3 T H
2% & 8261
4TH EEE 8261
WOE oo WM OJE W R
B HiERTO%E HHIEAHE i ¥ 7E B bt P
TR N
[ A S H 4 5 1E Z D,
FM FM FM FM FM FM FM
5 ZiEbtiE B 31,537 423 31, 960 423
e
7 BEAnEEss 27,895 403 28,298 403
#
2 123, 105 826 123, 931 826 0 0 0

_10_




& y
X ga & #H A
F i
1 423 | 010 Zikbins BiREE 423
o A PR S R 423
1 RN 403 | 010 R AnEsgezs gy 403
o A PR S R 403

_11_




/N < -~
W5 O E W)
1 el —fad
(BA7 : TM)
WwHE
wog REH | ClmEES | aow | AR A& A W%
W WwoOoRE RS s i B
G PF
B % 3 23,760 10247 34, 007 6,352 40,359
(3. 45)
o= g 18 72,060 24,141 96,201 18,828 115,029
(3.35)
s
” E(’;ﬂﬂ}% 3,427 123,745 123, 745 123, 745
2 3,448 195,805 23,760 34,388 953,953 25,180 279,133
B % 3 23,760 10247 34, 007 6,352 40,359
(3. 45)
o= g 18 72,060 24,141 96,201 18,828 115,029
(3.35)
s
A E(’;ﬂﬂ}% 3,427 122,919 122,919 122,919
2 3,448 194,979 23,760 34,388 953,127 25,180 278,307
E % - - - - - - -
(0. 00)
kb = 5 _ _ _ - _ _ _
(0. 00)
- E(’;ﬂﬂf{% — 826 — — 826 — 826
7 — 826 — — 826 — 826

_12_







